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YABANCI DiL DENEME SINAVI

INGILiZCE

1. Bu sinavda 80 soru vardir.

2. Verilen cevaplama siiresi 120 dakikadir.
3. Cevaplamaya istediginiz sorudan baslayabilirsiniz.

1. - 15. sorularda, ciimlede bos birakilan yerlere
uygun diisen s6zciik veya ifadeyi bulunuz.

1. My wife was ---- with the presents she got at her
50th birthday.

A) approved B) condemned
C) overwhelmed D) directed

E) stood

2. Albania is an example of religious tolerance, but
requires furtiier progress to reach international
standards in human and ---- rights.

A) source B) minority

C) jeopardy D) familiar

E) verdict
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3. After the disinfection process, the smell of

chlorine was ---- strong around the swimming
pool area.

A) quite B) clearly
C) equally D) shortly

E) instantly

4. After graduation, | was very ---- to start my

engineering career hoping to finally put into
practice everything that | had learned in school.

A) spontaneous B) tiny
C) temporary D) incredible
E) eager




5. With our Total Waste Management approach, we
---- major industrial companies both nationally
and internationally.

A) brush up B) come down with
C) hang up D) work out
E) aim at
6. The music of Elvis Presley ---- in some countries

across the world.

A) banned

B) had been banned
C) has been banned
D) was banned

E) had banned

7. Khaled Hosseini, more than 40 million copies of ---
books have been sold worldwide, is one of the
most recognized authors in the world.

A) that
B) whose
C) whom
D) who
E)-—-
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8. Mobile phone theft ---- an increasing concern
recently, and the young ---- often the victims of it.

A) became / is

B) had become / had been
C) has become / are

D) would be / would be

E) is / has been

9. For -—- of you who don't know, "Muppet Show"
was a popular children's TV show in the 80's.

A) much
B) either
C) any

D) those
E) these

10. At the meeting, ---- he spoke well, he was unable
to persuade the other members.

A) even though
B) despite

C) unless

D) if

E) in case



11. Most children ---- walk without holding on to
anything when they ---- fifteen months old.

A) could / have been
B) are able to / are
C) can/ will be

D) should / were

E) had to / would be

12. If microchips ---- back in the late 1950s, computer
technology ---- as advanced as it is today.

A) weren’t developed / isn’t

B) haven’t been developed / hasn’t been
C) wouldn’t develop / won'’t be

D) hadn’t been developed / wouldn’t be
E) hadn’t developed / wasn’t

13. We all ---- that the secretary deserved ---- for her
totally irresponsible behaviour.

A) believed / having fired

B) will believe / being fired

C) have believed / to have fired
D) believe / to be fired

E) would believe / firing

14. Some people prefer ---- their money at home
rather than ---- it in a bank because they believe
that it is riskv.

A) to keep / invest

B) keeping / investing

C) to keeping / invested
D) to have kept/to invest
E) keep / to be investing

15. Most old people feel that the world today is not ---
safe ---- it was during their childhood.

A) more / than
B)as/as

C) both / and

D) hardly / when

E) not only / but also
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16. - 20. sorularda, asagidaki pargcada numaralanmig
yerlere uygun diisen sézciik veya ifadeyi bulunuz.

Thirteen hundred college students from eight academic
institutions (16) ---- in classrooms, about their internet
use for the purpose of identifying (17) ---- their internet
use has affected their social or academic lives. (18) ----
the typical Internet-using student uses the Internet for
100 minutes per day, there is a small group of students
that use the Internet to the degree (19) ---- it interferes
with other aspects of their lives. Another surprising truth
is that most dependents are males and (20) ---- in the
hard science academic majors.

16.

A) surveyed

B) were surveyed
C) have surveyed
D) surveying

E) to survey

how many

)

)
>) however
)

) whatever

A) why
B) however
C) whether

20.

A) are found
B) finding

C) have found
D) being found
E) will find




21. - 28. sorularda, verilen ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

21. Amie agrees with the neighbours ----.

A) whether or not they should attend the council
meeting at the town house

B) helping the ones in need in the hospital of the
small town

C) the immigrants who have been placed in their
neighbourhood in great numbers

D) that had caused quite a lot of problems after the
discussions with the mayor

E) that the grass is always greener on the other
side of the fence

22. What you first notice about Laura —--.

A) how hardworking an individual she was

B) were her stunning black hair and large, dark eyes

C) that she is an honest and responsible worker

D) whether they will be sending her abroad on
business

E) if she is an Asian or mixed-race because she is so
different
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23. That Seth lacked even a small amount of good

sense ----.

A) because he always made wrong decisions as the
chief of staff

B) due to the fact that he was always in trouble

C) his colleagues couldn't get along with him so well

D) was obvious due to his recent poor decisions

E) that prevented the company from boosting its
sales

24. Justin’s superficial solution to the problem

revealed ----.

A) everybody to doubt that he was hiding something

B) whether he was capable of handling the situation

C) that he had not spent much time considering the
consequences

D) that he has been making secret talks with the rivals
for a long time

E) he is going to resign from his duties as a
coordinator



25. The nature of the song composed for the herd is
supposed ----.

A) to be reminiscent of shepherds calling to their herd
at night

B) that it was made by a shepherd years ago

C) bringing the herd together after the grazing

D) to sing to the sheep while they are grazing

E) whether the song is suitable to bring the herd
together when they disperse

26. Ted’s enthusiasm for becoming a professional
drum player faded away when he realized ----.

A) if Mrs Sanders, whom he did not like, will teach him
or not

B) he would have to practice several hours a day

C) that they will see each other every day

D) to be interested in playing the violin actually

E) that he has been listening to the famous guitarist
for a long time

27. Of the many problems in the world today ----.

A) child abuse is seen in all the countries arcund the
world

B) governments are not doing their best to solve
them

C) murder is more serious than violence against
women

D) none is as widespread or as old as crime

E) which poses serious threats to all humans

28. There is a common belief ----.

A) whether to be vaccinated or not

B) that to tell white lies to deceive others

C) that politicians don't usually tell the truth about
most things

D) of problem children are victims of a divorce

E) suggests precautions for a possible earthquake
should be taken
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29. - 31. sorulari agagidaki pargaya gore
cevaplayiniz.

Life, like all other processes that go on in material bodies,
requires energy. It differs from such processes in the way in
which its energy is obtained and from all of them in the way
in which its energy is directed. The energy of the process
which goes on in a boiling kettle is passed on to it continually
from without, by the fire. The energy of the process which
goes on in a clock is stored in it, but has been passed on to
it by mechanical action from without, in the winding of the
spring. But life differs from the other processes and from all
processes that go on in lifeless things, in that, its energy is
liberated in such a way as to tend to the preservation and
increase of the living being.

29. The author of the passage points out that all
processes, living or lifeless, .

A) need energy

B) detach energy

C) depend on mechanical action
D) are wasteful of energy

E) have the same pattern

30. It can be understood from the passage that every
process related to life --—-.

A) uses the same amount of energy

B) is directed towards the maintenance of life
C) is aided by an outside source of energy
D) is capable of storing energy

E) resembles processes in lifeless things

31. The most distinctive feature of mechanical energy,
as opposed to life energy, is that it -—-.

A) is always directed to the preservation of life
B) can be controlled

C) cannot be stored

D) is supplied from outside

E) is obtained from the same source




32. - 34. sorulari asagidaki pargaya gore
cevaplayiniz.

From the point of view of the control of diseases, World War ||
represented a transitional period for industrialized combatant
countries. As far as infectious diseases are concerned, the five
years of continual war and occupation had affected civilian
populations in Europe surprisingly less than did warfare in
previous conflicts. The most notable increases in disease
levels were those of new cases of tuberculosis, which rose
steadily throughout Western Europe, and of reported cases of
typhoid fever. Most seriously affected were displaced persons,
encamped refugees and inmates of concentration camps. In
marginally nourished and starving patients, typhus, dysentery,
scarlet fever and diphtheria caused sporadic outbreaks and
many deaths.

32. It is emphasized in the passage that ----.

A) Many of the deaths could have been avoided
through better health care

B) Western Europe was not exposed to any of the
infectious diseases during the war

C) most of Western Europe was occupied for a large
part of the war

D) refugees and the homeless were adequately taken
care of during the war

E) such infectious diseases as typhus and
dysentery caused the loss of many lives among
the undernourished

33. The author of the passage explains that ----.

A) among the homeless, it was the children who were
most seriously affected

B) sanitary conditions in concentration camps were
terrible

C) owing to malnutrition, there was an unprecedenied
outbreak of tuberculosis among the fighting men

D) due to the efficiency of health precautions, all the
infectious diseases had marginal effect

E) during the World War Il, civilians were not
affected by infectious diseases as much as it
might have been expecied

34. The World War Il experience ----.

A) showed how inhuman the conditions were in the
concentration camps

B) encouraged industrialized countries to provide
housing for the homeless

C) proved valuable as regards the control of
diseases

D) has inspired many countries of Western Europe with
the idea of a lasting peace

E) has contributed to the rapid industrialization of the
western world
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35. - 37. sorulari asagidaki pargaya goére
cevaplayiniz.

Psychology is literally the study of the mind or soul but its

area has broadened somewhat in the last century as we

have learned that one cannot consider the mind as totally
isolated from the body and now it includes the study of

human personality and behaviour. Psychologists also study
the behaviour and brain of animals whenever such studies
throw light on human behaviour. It is important to realise that
psychologists are first and foremost trained as scientists rather
than as medical experts and do not necessarily take much
interest in abnormalities of the brain and mental processes.

35. As can be inferred from the passage, psychology

A) mostly deals with mental abnormalities

B) primarily focuses on the evaiuation of animal
behaviour

C) has in time developed as a branch of medicine

D) has always been confined to the study of the mind

E) is concerned with the mind together with human
personality’and behaviour

36. In the passage, attention is drawn to the fact that

A) psychologists are basically scientists

B) psychologists give great importance to the study of
mental processes for medical purposes

C) there have been no noticeable developments in
psychology since the last century

D) the human mind can best be understood through the
study of animal behaviour

E) the body and the mind are separate entities in the
eyes of psychologists

37. It is pointed out in the passage that ----.

A) a close cooperation between psychologists and
medical experts is essential

B) the study of human behaviour alone is what interests
present-day psychologists

C) as a branch of science, psychology is no longer
to be understood in its literal sense

D) in recent years psychologists have concentrated
mostly on the study of the mind

E) the mind and the body function independently



38. - 40. sorulari asagidaki pargaya gore
cevaplayiniz.

No account of the solar system would be complete without
mention of comets, for these are just as much members of the
sun's family as are the major and minor planets. Quite a large
number of comets are discovered every century, but most of
them are extremely faint objects, far below the limits of the
unaided eye. Comets usually arouse public interest when they
are large and bright enough to attract attention and receive
mention in the newspapers. But objects of this type do not
appear frequently and have been particularly rare during the
present century.

38. We can understand from the passage that the
appearance of large and bright comets --—--.

A) has been noted more often during the present
century

B) has always been regarded as a good omen

C) has always been an unusual event and
especially so in our time

D) gives scientists the opportunity to further their
knowledge of the solar system

E) is generally ignored by the press and the media

39. According to the passage, comets invisible to the
naked eye ----.

A) outnumber those visible to the naked eye

B) are of no interest to scientists

C) have only recently attracted scientific interest

D) constitute the bulk of the solar system

E) are of very limited importance in studies of the solar
system

40. The author of the passage suggests that
astronomers ----.

A) should confine themselves to the study of major
planets

B) study not only planets but also comets

C) focus on comets visible to the naked eye

D) mainly deal with newly-discovered comets and
planets

E) concentrate on the comets discovered in the present
century
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41. - 43. sorulari asagidaki pargaya gore
cevaplayiniz.

Although rarely spoken about by society or media, child
abuse is one of the nation's most pressing problems today.
As population continues to grow, so does the number of
unwanted and unplanned children and it is estimated that
10% of children will be maltreated or neglected. Child abuse
can come in three forms: passive cruelty in the neglect of
children by an unloving or uneducated parent; occasional
cruelty in the momentary violent reaction of a frustrated or
overburdened parent; and consistent, deliberate cruelty in
uncontrollable actions by a mentally sick parent. Simple
neglect is easiest to correct. Actual abuse on the spur of the
moment is more serious, but still much less so than continual
abuse due to mental illness.

41. The passage suggests that the problem of child
abuse ----.

A) is slowly being overcome

B) has been greatly overestimated

C) does not receive as much aitention as it should
D) will continue to present problems in societies
E) has led 0 an increase in mental illnesses

42. The most serious type of child abuse ----.

A) is being perpetuated wilfully by an unbalanced
parent

B) is also the type that can most easily be corrected

C) first occurred when parents had to work under stress
for long hours

D) is due to ignorance or lack of interest and thus
impossible to correct

E) can be reduced by family planning

43. The passage points out that the parents of abused
children ----.

A) are surprisingly well-educated people

B) usually take pleasure in hurting children
C) are never deliberately cruel

D) often regret any pain they have caused
E) very often have social or mental problems




44. - 48. sorularda, karsilikli konusmanin bos
birakilan kismini tamamlayabilecek ifadeyi
bulunuz.

44. Sam : Which country is the richest in the world?

Mary: I'm not sure but it used to be Brunei. It might
have changed.

Sam : ----

Mary: There are various criteria but mostly it is
according to Gross Domestic Product.

Sam : | see. So production is very important.

A) Maybe there are more than one rich country.

B) How is wealth of a country determined?

C) Can per capita be a measure?

D) Wasn't it the amount of resources of the
country as we learned at school?

E) Import and export helps a country to develop
economically.

45. Mae: There is shortage of water in istanbul and they
say it's serious.

Lin : | heard about it. If it won't rain sufficiently in the
coming days, water will be limited in Istanbul
for a longtime.

Mae: ----

Lin : There are other easier precautions to be taken.
What you are saying is harmful to the
environment.

A) Has this ever happened before?

B) The ministry is not doing its best to take
action.

C) Which part of Turkey is facing the same
situation?

D) We should all be careful with the water
consumption.

E) Why don't they trigger rain artificially
using rain bombs?
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46. Eve :I'mlooking for a new flat to rent. | can't

tolerate my landlady anymore.
Adam: ----

Eve : She complains about everything | do. She
won't allow any visitors, pets or music. I'm
fed up.

Adam: | see. | can help you find a new flat if you like.

A) Well, half of my income is spent on fare.
That's too much.

B) What is the highest amount you can pay? There is
a flat for rent in my neighbourhood.

C) Why? What's the matter?

D) Do you prefer one in the city centre?

E) I'm having my flat redecorated. You can
move in with me if you like.

47. Sue : You know what? I'm really getting interested in

the movement of glaciers.
Bob: What have you learned so far?

Sue ; ----

Bob: That’s right; the ice moves out to the sides
because of the greater weight and pressure at
the centre.

A) That when glaciers move, they don’t only

move straight downhill.

B) Well, some glaciers flow into the sea, but
others end on land.

C) Glaciers store about 75% of the world’s
freshwater.

D) | found out that where an ice sheet flows
into the ocean and floats, it forms an ice
shelf.

E) Ice sheets flowing over land usually form
piles of rocks and dirt at their ending points.



48. Ken : How was your visit to Crater Lake National
Park last summer?

Heidi: It was wonderful. The lake is so beautiful, with

a clear, deep-blue colour. And | learned
something new about it: it's a closed basin
lake.

Ken : ----

Heidi: Well, there are no permanent streams that
enter or exit the lake.

A) | plan to visit the lake this summer.

B) How did you learn that?

C) 'm impressed by how informed you are about so
many things!

D) What does that mean?

E) How many visitors are allowed into the park
each year?

49. - 53. sorularda, verilen ciimleye anlamca en
yakin ciimleyi bulunuz.

49. The earliest Greek myths were part of an oral

tradition that began in the Bronze Age, and their

plots unfolded gradually in the written literature
of the classical periods.

A) Earliest Greek mythology started as a
verbal tradition during the Bronze Age but
became the theme of writien literature in
classical periods.

B) Greek myths were first told by people
traditionally, whereas in the classical times
they were used by authors in written
literature.

C) People did not believe in myths when they
were told orally but after they appeared in
novels, they became the theme of literature.

D) The earliest Greek myths were heard of in
the Bronze Age first and later, in the classical
period they were popular in literature.

E) The first myths belong to the Greek of the
Bronze Age, however, they were the mostly
used in classical literature in the following
ages.
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50. The world's first-recorded chemist is

considered to be a woman named Tapputi, a
perfume maker who was mentioned in a
tablet from the 2nd millennium BC, in
Mesopotamia.

A) Awoman named Tapputi made the first
perfume in 2000 BC in Mesopotamia.

B) Tapputi, a woman from Mesopotamia,
made perfumes in 2000 BC and her name
on a tablet shows that she was the first
chemist in history.

C) On a 4000-year-old tablet is the name of a
Mesopotamian woman Tapputi, who was a
chemist making perfume.

D) It is evident that Tapputi was a chemist and a
perfume maker in Mesopotamia in the 2nd
millennium BC.

E) In 2000 BC a Mesopotamian chemist called
Tapputi made the first perfume in history.

51. Just when you think you have bought a

computer that will last a life time, along
comes some new software that needs even a
bigger hard disk.

A) New computer software requires a big hard disk so
if your computer is old, you might buy a new one
which will last long.

B) New computer software needs a bigger hard disk
no matter how new your computer is.

C) Computers may last long but whenever some new
software appears, you might need to update your
hard disk.

D) If your computer does not work well, you might
need some new software to make it better.

E) You might think that you won’t need another new
computer for a long time but right then some new
software requiring a bigger hard disk comes out on
the market.




52. Only a small number of people in the
audience laughed at the comedian’s jokes,
while the rest found him to be too sarcastic.

A) Only a few people in the audience found
the comedian funny but the majority thought
he was sarcastic.

B) Half of the audience thought the comedian had a
sense of humour while the other half thought
he was silly.

C) The number of people who found the comedian
funny outweighed the ones who found him
sarcastic.

D) The majority of people in the audience
believed the comedian did not have a sense of
humour but a few people thought he was
sarcastic.

E) A great number of people in the audience
were convinced that the comedian was funny
although few people in the audience did not
find him talented enough.

53. The graph clearly showed that the company
had reached the summit in profits during the
2010s when the economy was in a boom
period.

A) The company profited a lot in the 2010s
because the economy was growing.

B) It was clearly seen in the chart that the
company was at its peak in terms of profit
when the economy was on the rise in the
2010s.

C) The graph revealed that the company was
successful during the 2010s when the
economy was at its peak.

D) In terms of profit, it was the 2010s that the
company was in a boom period as the
economy was on the rise as well.

E) That the company moved into profit owing to
the growing economy was shown in a graph.
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54. - 8. sorularda, verilen durumda séylenmis
olabilecek sézii bulunuz.

54. You are waiting for your turn in a doctor's
office but a woman who has arrived after you
takes the turn. You get angry and go to the
nurse to complain. You say: ----

A) That lady has already missed her appointment.
B) Why are you so unfair?
C) Had | known before that you accepted
patients without an appointment, | wouldn't
have bothered to make an appointment.
D) | will complain about vou to the doctor because you
are not doing your job properly.
E) Itis not your turn madam:; | think you are
mistaken.

55. You call your friend at work but somebody
else answers the phone. Knowing that your
friend was expecting your call, you wonder
why he is not in and say worriedly: ----

A) Can | leave a message?

B) He won't be back until tomorrow.

C) Would you like to leave a message?

D) | was expecting to reach him at work. Has
something happened?

E) Do you know his mobile phone number?



56. Your closest friend is thinking of getting
married to her boyfriend whom you don't
approve of. You want to be honest with her
so you try to warn her kindly by saying: -

A) | think you have second thoughts about this
relationship.

B) I don't want you to make wrong decisions
on such an important issue. Think twice
please.

C) Do you think | am on the wrong track by
getting married so early?

D) I don't know what you find in this man. He is
not your cup of tea.

E) I'm thinking of getting married this summer.
Why don't we all marry on the same day?

57. You like a ring you see on Let Go but you
find it expensive. You text the seller for a
lower price so you write: ----

A) | would like to know how much the ring is.

B) It's a silver ring and it is handmade.

C) No discount is possible. The price is already
reasonable.

D) I want to buy the ring but can you make a
discount?

E) I want you to reduce the price so that ! can
buy it.

58. You are at a job interview and the interviewer
says your educational background is good
but asks you if you have any experience as
an accountant and you say: -

A) | am excited about learning accounting.
B) No, | don't mind werking at weekends.

C) Yes. | studied management at Istanbul University.

D) | have worked in an import-export company as a
sales representative but not as an accountant.
E) | know what you are trying to get at.
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59. - 63. sorularda bos birakilan yere parcada
anlam bitinliigiini saglamak igin getirilebilecek
ciimleyi bulunuz.

59. Many people in the western world are worried
about the amount of lead they and their children
are absorbing from the environment. Lead in the
exhaust fumes from traffic and in paints on toys
or furniture children might suck have been the
subject of legislation in many countries. ---- They
may be affecting not only adults but children also.

A) Lead accumulates in the body and causes nervous
disorders and mental retardation.

B) Researchers stress that most people are unaware
of the dangers they face by following these
traditional practices.

C) Researchers have also discovered that some
medicines and cosmetics are causing lead
poisoning as well.

D) Scientists hope that ministries will organize health
education programmes for the general population.

E) Some families are reporting that their children are
vomiting due to lead pcisoning and they are trying
to treat:ithem.

60. It is well-known that the left and the right halves

of the brain specialize in different things. The
right side of the brain controls the left half of
the body, as well as visio-spatial and visio-
manipulative functions. These involve actions
such as hitting a tennis ball, using a pen or not
bumping into furniture. The left side controls the
right side of the body. ----

A) Sign language is clearly a complex spatial and
manipulative skill.

B) It also controls speech, by nerve cells in the left
side of the brain which are connected to our
tongues and lips.

C) Doctors in the US now have reason to believe that
the left brain also controls language.

D) Usually surgeons perform a lobectomy on the left
side of the brain to treat a disorder on the right
side of the body.

E) Nowadays brain surgeries on either side of the
brain are successful indeed.




61. ---- Although the life expectancy has increased

dramatically in the past 200 years, this appears to
be due more to the progress in simple hygiene
and nutrition than to spectacular advances in
medicine or the treatment of diseases. However,
the relative frequency of different causes of death
has changed dramatically since the advent of
chemotherapy.

A) It is surprising that we still understand very little
about the cause of ageing.

B) Most people look younger than they actually are
nowadays.

C) Modern medicine advances have helped doctors to
treat patients better compared to 100 years ago.

D) A balanced diet is the key to good health.

E) Wrinkles, dry skin, brown spots, visible pores and
dullness of skin are the signs of ageing.

62. ---- | mean, it is only natural for the body to protect

itself from the unknown. Sometimes, this fear
can manifest in different ways in threatening
situations. That initial panic you feel when you
are moving away from home, and taking a recital
and making a speech in front of a bunch of people
can be crippling. Still, somehow, some people
manage to pull through and even make the most
of the situation. However, the reaction may be
different for others, especially those with a social
anxiety disorder, which can also avoid situations
like that entirely.

A) The American Psychiatric Association defines
social anxiety disorder as a mental disorder

B) Social anxiety disorder is more than just
feeling shy or nervous.

C) Everyone is going through one thing or the
other.

D) Taking care of your mind also involves the
body.

E) Fear is a universal human characteristic.
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63. HIV is a spectrum of conditions caused by

infection. ---- This is followed by a prolonged
period without symptoms. It interferes more and
more with the immune system. HIV is transmitted
primarily via unprotected sexual intercourse,
blood transfusions, from mother to child during
pregnancy. Unfortunately, there is no cure or
vaccine.

A) HIV infection is caused by the human
immunodeficiency virus.

B) HIV destroys white blood cells that play a
large role in helping your body fight disease.

C) This means that most people will need to be
on treatment for 7 to 12 months.

D) A person may experience a brief period of
influenza-like illness.

E) All viral load test resulis are undetectable for
at least six months.

64. - 69. sorularda, verilen ingilizce climleye
anlamca en yakin Tiirkge cliimleyi bulunuz.

64. Charged with immoral approach, the judge was

called off the case even though he denied receiving
bribes from the counsel.

A) Hakim kuruldan ahlaksizca aldigi risveti inkar etse
bile davadan geri ¢ekildi.

B) Ahlaksiz yaklagsimla suglanan yargig, rugvet
aldigini inkar etmesine ragmen davasi dusuruldd.

C) Hakimin ahlaksiz davranisi, rigvet aldigini inkar
etmesine ragmen davadan alinmasiyla
cezalandirildi.

D) Ahlaksiz bir yaklasimla suglanan hakim,
kuruldan rugvet aldigini inkar etmesine ragmen
davadan alindi.

E) Kuruldan rusvet alan hakim, inkar etse bile bu
ahlaksiz davranis karsisinda davadan alindi.



65. After they examined the cow, scientists determined

that it did not have mad cow disease, and thought
that it was unnecessary to notify the board of
health.

A) inegi muayene eden bilim adamlari inekte deli dana
hastaligi olmadigini belirleyip saglik kurulunu
bilgilendirmenin gereksiz oldugunu belirttiler.

B) inegi muayene ettikten sonra bilim adamlari
inedin deli dana hastaligi olmadigini belirlediler
ve saglik kuruluna haber vermenin gereksiz
oldugunu duasundler.

C) Bilim adamlari inegi inceledikten sonra deli dana
hastaligina rastlamadiklari i¢cin sagdlik kuruluna haber
vermenin gereksiz oldugunu belirttiler.

D) Bilim adamlar tarafindan incelenen inekte deli dana
hastaligi olmadidi belirlenince saglik kuruluna haber
vermenin gereksiz oldugu dusunaldi.

E) inegi muayene ettikten sonra deli dana hastaligi
olmadigini distnen bilim adamlar1 saglik kuruluna
haber vermediler.

66. A decade after they migrated, the members of the

tribe began to return home, hoping to rebuild the
community they had fled during the war.

A) Gog ettikien on vil sonra, kabile Gyeleri savas
sirasinda kagliklari toplulugu yeniden insa
etmeyi umarak evierine geri dénmeye basladilar.

B) On yil 6nce terk ettikleri toplulugu yeniden kurma
amaciyla kabile tyeleri evlerine geri dénmeye
basladilar.

C) On yil 6nce savas nedeniyle gog ettikleri topraklarda
yeniden hayat kurma hayaliyle, kabile Gyeleri
topluluklarina geri dénduler.

D) Savas nedeniyle géc¢ ettikleri topluma geri ddnmeye
baslayan kabile tyeleri toplulugu yeniden insa etme
umudu tasiyorlardi.

E) Géc ettikten on yil sonra, savas nedeniyle kactiklari
topluluga geri ddnmeye baslayan kabile Uyeleri,
toplulugu yeniden kurma umudundaydilar.
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67. Joe is the kind of student we seek: someone who is

both academically strong and actively involved in
the community.

A) Joe'nun bizim aradidimiz tirde bir 6grenci olmasi
onun hem akademik olarak gug¢li hem de sosyal
olarak aktif birisi olmasidir.

B) Joe tam bizim aradigimiz é6grenci tipi: dyle biri ki
hem akademik olarak donanimli hem de sosyal
cevrede aktif biri.

C) Joe bizim aradigimiz turde bir 6grenci: hem
akademik olarak guc¢lu hem de topluluga aktif
olarak dahil birisi.

D) Hem akademik olarak gticlu hem de toplumda aktif
biri olmasi yéniinden Joe bizim aradigimiz égrenci
tard.

E) Joe bizim saptadidimiz ozellikteki 6grencilerden bir
tanesi: hem akademik yénden guicli hem de
toplumda aktif birisl.

68. It is reported that the vulgarity of the football fans

at the stadium was severe and eventually led to a
penalty for the team.

A) Deniliyor ki, stadyumdaki taraftarlar siddet gésterdi
ve takimlarinin ceza almasina neden oldu.

B) Stadyumdaki taraftarlarin kabaligi siddetliydi ve
sonunda takimin ceza almasina neden oldugu
bildirildi.

C) Stadyumdaki taraftarlar siddet gésterdikleri igin
takimlarina ceza verildigi rapor edildi.

D) Stadyumdaki taraftarlarin kaba kuvvet géstermesinin
takimin cezalandiriimasina sebep oldugu haberi
verildi.

E) Stadyumdaki taraftarlarin kabaliginin siddetli
oldugu ve sonunda takima ceza verilmesine yol
actigi bildiriliyor.




69. Far from being lazy, Bob gets up at dawn every

morning to prepare for a long day at work after
which he attends classes in the evening.

A) Bob tembel olmaktan uzaktir; her sabah uzun bir is
gunine hazirlanmak i¢in safak vakti kalkip aksamlari
derslere devam eder.

B) Tembellik bir yana, Bob safak vakti uzun bir is
gunine hazirlanmak i¢in kalktiktan sonra aksamlari
okula gider.

C) Tembel olmayan Bob, safak vakti kalkarak iste
gecirecegdi uzun bir giine hazirlanir; aksam derslere
katilir.

D) Bob, tembel olmak séyle dursun, iste uzun bir
gune hazirlanmak i¢in her sabah safak zamani
kalkar, bundan sonra aksamlari derslere katilir.

E) Safak zamani kalkarak uzun bir is ginine
hazirlanan, aksamlari derslere katilan Bob tembel
olmaktan uzaktir.

70. - 75. sorularda, verilen Tiirkge ciimleye
anlamca en yakin Ingilizce ciim!eyi bulunuz.

70. Tatillerde ve hafta sonu galismalctan nefret ottigi

halde, Trevor maas ¢ekinin ailesinden uzakta
gecirdigi zaman igin bir telafi yerine gegecegini
umuyordu.

A) Although he detested working during the holidays or
weekends, Trevor thought that the money he would
get would be considered as a compensation for the
time with Tamily lost.

B) Even though he hated to work on holidays and
weekends, Trevor hoped that his pay check would
serve as a compensation for the time spent away
from his family.

C) Trevor expected that the pay check he would
receive for working on holidays and weekends
would compensate for the time he couldn't spend
with his family.

D) Trevor hoped to get a pay check for working on
holidays and weekends, which he hated, but it
served as a compensation for the time he lost.

E) Hoping to receive a pay check as compensation,
Trevor agreed to work on holidays and weekends
although he hated it.
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71. Tomurcuklanan gigekler, ilik meltemler ve yavru

hayvanlarin dogmasi uzun ve zor kistan sonra
kirsalda ¢ok iyi kargilanan bir havanin geldigini
haber veriyor.

A) The budding flowers, warm breezes, and birth of
young animals point the way to a desired weather
in the country after a long and freezing winter.

B) The budding flowers, warm breezes, and birth of
young animals tell us that long and cold winter is
over in the country and lovely weather is there.

C) The budding flowers, warm winds, and birth of baby
animals in the country show that good weather is
here and cold winter is over.

D) The budding flowers, warm breezes, and birth of
young animals suggest that the much-welcomed
atmosphere in the country is here after a long,
hard winter.

E) The budding flowers, breezes, and the birth of
animals suggest the favourable weather after the
long and hard winter in the country is here.

72. Cezasinin agir olacagini bilmesi Oscar'i yaptigi sey

hakkinda annesine yalan séylemek zorunda birakti.

A) That he knew his punishment would be severe
made Oscar lie to his mother about what he had
done.

B) Oscar lied to his mother about what he had done
because he knew the punishment would be severe.

C) The reason why Oscar lied to his mother is that he
knew his punishment would be severe.

D) Whether he knew his punishment would be severe
or not, Oscar stil lied to his mother about what he
had done.

E) The fact that the punishment would be severe didn't
keep Oscar from lying to his mother about what he
had done.



73. Baharda tatile cikmak imkan dahilinde degildi

¢linkii ne Helga'nin ne de Olga'nin parasi vardi.

A) Due to the fact that Helga and Olga had no money, it
was impossible for them to go on holiday in the
spring.

B) That Helga and Olga didn't have any money, made it
impossible for them to go away for spring break.

C) Going away for spring break was not within the
bounds of possibility, since neither Helga nor
Olga had any money.

D) It wasn't possible for Helga and Olga to go away for
spring break as they had no money at all.

E) It was impossible to go on holiday in the spring
because neither Helga nor Olga had any money.

74. Floyd'un karakteristik bir sesinirn olmasi onun

koroda solo sarkici olabilecegi anlamina gelmez.

A) Whether Floyd has a distinctive voice or not, he will
be the soloist in the choir.

B) Floyd can't be the soloist in the choir just because he
has a distinctive voice.

C) Floyd can be the soloist in the choir due to the fact
that he has a distinctive voice.

D) Floyd can't sing in the chcir as a soloist because he
doesn't have a distinctive voice.

E) The fact that Floyd has a distinctive voice does
not mean that he can be the soloist in the choir.
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75. Sirket, basarili Giniversite mezunlarinin gogunu ise
alma kotasina ulastiginda, daha yasl, daha
deneyimli adaylari ise almaya devam ettiler.

A) The company went on to hire older, more
experienced candidates because they had reached
the quota of recruiting the majority of successful
college graduates.

B) When the company reached its quota of hiring
the majority of successful college graduates,
they proceeded to recruit older, more
experienced candidates.

C) The fact that the company reached its quota of hiring
a number of successful college graduates, allowed
them to proceed to recruit more experienced older
candidates.

D) After the company reached its quota of hiring
the majority of college graduates, they resumed
hiring candidates who were older and more
experienced.

E) When the company hired all of the successful
university graduates, they staried recruiting the other
candidates who were older and more experienced to
reach the quota.

76. - 80. sorularda, ciimleler sirasiyla okundugunda
parcanin anlam biitiinliigiinii bozan ciimleyi
bulunuz.

76. (I) Humidity is the amount of water vapour in the air. (ll)
Water vapour is the gaseous state of water and is
invisible. (Ill) Humidity indicates the likelihood of
precipitation, dew, or fog. (IV) Higher humidity reduces
the effectiveness of sweating in cooling the body by
reducing the rate of evaporation of moisture from the
skin. (V) This effect is calculated in a heat index table
or humidex.

Al Bl C)ll DIV E)V




77. (1) Neil Alden Armstrong was an American astronaut

and the first person to walk on the Moon. (ll) He was
also an aerospace engineer, naval aviator, test pilot,
and university professor. (lll) Before becoming an
astronaut, Armstrong was an officer in the U.S. Navy
and served in the Korean War. (IV) He later completed
graduate studies at the University of Southern
California. (V) After the war, he earned his bachelor's
degree at Purdue University and served as a test pilot
at the National Advisory Committee for Aeronautics.

Al Bl C)ll DIV E)V

78. (I) Noon is usually defined as 12 o'clock in the daytime.

(Il) The term midday is also used colloquially to refer to
an arbitrary period of time in the middie of the day. (lll)
Solar noon is when the sun crosses the meridian and

is at its highest elevation in the sky, at 12 o'clock
apparent sclar time. (IV) The local or clock time of solar
noon depends on the longitude and date. (V) In the
Northern hemisphere, above the Tropic of Cancer, the
sun is directly to the south of the observer at solar
noon, and in the Southern hemisphere, below the
Tropic of Capricorn, it is directly to the north.

Al Bl C)ll DIV E)V
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79. (1) A snowflake is either a single ice crystal or an

aggregation of ice crystals which falls through the
Earth's atmosphere. (ll) They begin as snow crystals
which develop when microscopic super cooled cloud
droplets freeze. (lll) The snowflake is often a traditional
seasonal image or motif used around the Christmas
period, especially in Europe, the United States and
Canada. (IV) Snowflakes come in a variety of sizes
and shapes. (V) Complex shapes emerge as the flake
moves through differing temperature and humidity
regions, such that individual snowflakes are nearly
unique in structure.

Al Bl C)lll DIV E)V

80. (I) John Locke was the first to define the 'self' through a

continuity of consciousness. (ll) John Locke was an
English philosopher and physician regarded as one of
the most influential of Enlightenment thinkers and
known as the "Father of Classical Liberalism". (lll)
Considered one of the first of the British empiricists,
following the tradition of Sir Francis Bacon, he is
equally important to social contract theory. (IV) His
work greatly affected the development of epistemology
and political philosophy. (V) His writings influenced
Voltaire and Rousseau, many Scottish Enlightenment
thinkers, as well as the American revolutionaries.

Al B)Il  C)ll DIV E)V
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